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N\ _,..'"/
1/}ﬁﬂher of Sociology is 1. ;H?EH & T4E &

(A) Spencer T e
@  Comte (B) #H=
(C)  Durkheim (C) g@ﬂ'q
(0} Max Weber : 0) ¥ I
2. Who divided the Science of Sociology intp 2. SIS @ R 1 @i el
social statics and social dynamics? AR TR o & & TA W A
frm fAfrd o ar?
(A) Max Weber
(h) N AW
B Karl Marx
® B e
(C) Emile Durkheim © T 3@’1
D) August Comte () RT Hi
3. August Comte coined the lerm Sociology 3, T F 3 U G I8 &
fistin e fr?
(&) 1837 (A) 1837
(B) 1838 ‘(éy 1838
(C) 1839 ) 1839
0y 1840 D) 1840
4. 'Sociology' word is derived from which 4 e’ I B I fRY W J
language? g‘{ 27
(A)  Latin W
(B) Grﬁ@k {B) ‘m
(C) French () wE

()  Both (4) and (B)

UG(1 }SOC(Sub.fGen.)/EiflOO (3) [PTO,
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According to Augusl Comte, num"
knowledge went through three main stage>
which are - Positivism, Metaphysice! 2
Theological.

Choose the correct sequence of their risind

with the codes given below :

(A)  Theological, Metaphysical
Positivism

(B)  Metaphysical, Theological
Positivism

(C)  Theological, Positivism,
Metaphysical

(D) Positivism, Theological.
Metaphysical

Whare was the first Industrial Revoluticn
occurred?

(A) Germany

(B) United Kingdom:

©) USA
0)  China

Birth place of So/c'fid'iog-,f : JJ
(A)  Americd f
(8]  France /

(C)  England

(D) Germany

According. to whom, Saociology is the
ssience of collective representation?

(A} Max Weber

(B) Bierstedt
(C;  Durkheim
() Johnson

iCren., ) 23000

5.
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_C!D

TAHIEA, T R R

(A)  THIEN, SEMMEE, TEEEE
@ A, e, e
€  eMeTEE, gaedre, daEEEE

0) TR, qHeIEd, JEhmie
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10.

11.

12.

13.

s
#

UG(1 )SOC(Sub.r’Gen. )/25000

)

/_.who of the following has given the concept g
of 'Sui Generis'?
(A)  Max Weber
(B) Erich Fromm
C) Emile Durkheim
(0)  Karl Marx
Who is the author of "The Rules of 10.
Sociological Method"?
(A) P.V. Young
(8)  George Simmel
(C) ~ Max Weber
it Durkheim
%oes Sociology study systematically? 1
(A) Social relationship
(B) Human group and subgroup
(C) Social Institutions
D) All of the above
Which university in India has started the 12
study of Sociology first?
(A) Calcutta University
(B) Delhi University
(C) Lucknow University
O  Mumbai University
“Sociology and Anthropology are twin 13,
sisteré," This statement is of :
(A) Barnes and Baker
(8) Kroeber
(C) Herskowitz
o)  None of the above
(5)
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14 Normally which subject is generally studied
in Sociology and Economics?

(A} Tribal group
(B)  Nomad group
(C)  Family traditions
(D)  Labour law
19. "Sociely is network of socidl relationships.”

Who said this?
(A) MacIver & Page
(B) Bierstedt
(C) Linton
(0) Kingsley Davis
16. The author of 'Human Society’ is
(A) Maclver & Page

(
(C) Kingsley Davis

o

) Ginsberg

©) Ogburn and Nimkoff

17. "Community is the smallest regional group
which includes all the aspects of social life"?

(A) Bogardus

(8) Ritter

(C) Kingsley Davis
(D) None of the above

18. According to Robert Redfield, the main
feature of small community is :
(A) Brevity
B)  Self dependence
€}  Homogeneity
©) Al of the above

COSOC(suh Gen. 25000 o)
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19.

20.

21,

22.

23.

24,

UG(1)SOC(Sub./Gen.)/25000

Which characteristics is not e

characteristics of small community?

(A) Fixed locality

(B) Community feeling

(C) Normal life

(D) Voluntary membership

It is not included in the expression of

community feeling:

(A) Feeling of 'we'

B) Feeling to perform duties angd
responsibilies

(C) Feeling of dependency

D) Feeling of selfishness

A social institution is ;

(A) Tangible

(B) Abstract

(C) A group of persons

D) None of the above

We are not the member of :

(A) Community

(B) Institution

(C) Committee

(D) Social group

Who gave the concept of Total Institution?

(A) Merton

(B) Goffman

(©) Durkheim

D) Weber

Which of the following is not a committee?

(A) Village

(B) College

(C) Social Reform Organisation

(D) Political Party

(7))
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21.
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23.
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WhEh Ot the followang 18 not a feature of “*
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~
nsbtyhon

e Crar obiective

> Temporary nature
C cultural mstrument
o S_‘"‘C:‘

= whieh book Sumner clearly explamed the 26

Svoluton o7 Institution”
S Folkways
8 Society
C Prnciples of Sociology
D rsiitubon

which of the following 's not an example of 27

-~

committee”
= University
C) Family

D) Govemment

One explanation of 'Role’ is that : 28.
A) It is dynamic aspect of situation

(B) It is constant aspect of situation

() it is an individual aspect

)] it is collective aspect

Who gave the concepl of 'Sick Role? ég_
A)  Pareto

B)  veblen

C Merton

D) Parsons
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31

32.

33.

UG HU(‘(Suh_,{}ell-]HSUOO

The word 'husband’ 1s the indicator of :
(A) Status
(B) Role building
© Role
(D) Role playing
The meaning of status is :
(A) Social post
(8) Work
(C) Sense of Right and duties
(D) Both (A) and (B)
Which of the following is not the base of

conferred status?

(A) Gender

(B) Technical qualification
(C) Age

(D) Kinship

Which of following will not be called
conferred status?
(A) Student

(B) Woman
(C) Soodra
(D) Brahmin

Which of the following represents group?
(A) A collection of persons at any place

(B) A group of persons indulged in
normal activilies who inferacts with

each other

(C) A collection of persons having

same specialities

© Al of the above

(9)
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35.

36.

37.

38.

39.

UG(DSOC(Sub./Gen.)/25000

Who divided the social group into internal
and extemnal groups?

(A} Cooley
B) .  Sumner
(C)  Maclver and Page
(0)  Ogburn & Nimkoff
The sociologist who gave the classification
ot Horizental and Vertical group
(A) Small
(B) Miller
(C) Sanderson
D) Giddings
Which of the following cannot be said the
characteristics of internal group?
(A) Small size
B) Feeling of group welfafe
(C) Feeling of 'we'
()] Conflict in interests
Who gave the concept of Primary group?
(A) Ross
(B)  Merton -
(€ C.H. Cooley
(D) Parsons
Which type of relations are dominant in
secondary groups?
{A) Informal relations
(8)  Personal relations
{C) ~ Formal relations

©)  Face to face relations

3. R e B or: auT aed W ¥
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40.  Which of the following E%ple of

#.

42.

43,

44

UG() }SO(‘{gub_;(}en,)ﬁ?_SOUO

primary relations?

(A) Father-Son

(B) Husband-Wife

C) Employer-Labour
D) Teacher-Desciple

Who first discussed the concept of reference 41
group?

(A) Merton

(B) Johnson

(C) Himen

) Cooley

Family is the most important : 42,
(A)  Primary group

(B) Interest group

(C)  Organised group

(D)  Secondary group

Theory of reference group is based on which 43,
concept?

(A) Unequality.

(B) Functionalism

(C) Personal Adaptation

(D) Comparative lack of understanding
"Culture is a man made part of environment". 44,
Who said?
(A) Herskowitz
(B) Linton
(C) Giddings

(D) Tylor

(1)

@ Rea-gE
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45

46.

47.

48.

49,

UG(DSOC(Sub Gen.) 25000

Who explained the difference between

matenal and non-material culture?

(A)  Linton '

(B) Augburn

(C) Johnson

0)  Maclver & Page

The concept of ‘cultural lag' is given by :

(A) Sorokin

(B) Augburn

C) Bottomore

0) Moorey

'Man in the Primitive World' is written by :

(A) Tylor

(B) Herskowilz

(C) Hobble

(D) Sutherland

The smallest unit of culture is :

(A)  Cultural region

(B)  Cultural action .

(C}  Cultural element

(D) Cultural laé

The major difference between culture and

civilization is that :

(A)  Culture is that we have earned and
civilization is that we may wish to
eam

()  Culture originates from mind, not
civilization

(C)  Cultureisthatwe are, and civilization
is that we have.

0)  culture is secondary while

civilization is primary.

46.

47.

48.

49.
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50

51.

52.

93.

UG( l)SOC(SUbjGen,JEZSOOO

Culture is made by whom?

(A) By God

(B) By religion

(C) By government

(D) By human being

‘Cultural Change in India : Identity and
Globalization' is written by :

(A) Yogendra Singh

(B) T.K. Ummat

(C) Hamza Alvi

(D) A.G. Frank

The physical aspect of culture is called -
(A) Civilization

(B) Tradition

(C) Institution

(D) Environment

The writer of the book 'Social and Cultural

Dynamics' is :
(A) Sorokin
(B) Veblen

(C)  Max Weber

D) Augburn

The cultural lag is the difference between

which of the following ?

(A) Between material cultures of the
same society

(B) Between non-material cultures of
different societies

(C) Between material and non-material
cultures of the society

(D) Between economical and politica!

culture

50.

51.
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63.
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55.

96.

57.

58.

99.

UG{] )SOC(Sllh.fGe;L);QﬁOUO

Who wrote '"Primitive Culture'?

(A)  Kroeber

(B) Tylor
(C) Weber
D) Sorokin

The Socialization process continues fill :
(A) Lifelong

{B) Youth age

(C)  Mature age

(D) After death

Whe propounded the concept of 'self-

mirror'?

(A) Mead
(B) Marx
(C) Cooley
(D) Comte

The main objective of socialization is :
(A) de-socialization of child
(B) to relieve the individual from
disappointments

(© to make person to earn

(D) to develop 'self of a person

The process, by which a person internalized
social values is :

(A)  Rationalization

®  socialization

©  Re-socialization

Assimilation

5.

56.

57.

58.

39,
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60.

. 61

62.

63.

64.

UG() 80C(Sub./Gen. )/25000

In the process of soocialization, the most
contribution is given by ;

(A) Family

(B) School

(C) Neighbourhood

D) Welfare Committees

We rehabilitate criminals for change in their
attitudes, this process is called :

(A) Sacialization

(B) Re-saocialization

{C) Adult socialization

(D) Reformal socialization

Which of the following is not an agency of
socialization?

(A)  Family

(B) Award/Reward

(C) Play group

(D) Neighbourhood

Who has represented the three stages of
development Id, Ego and Super-ego?
(A)  Mead

(B} Signmund Freud

(C) Cooley

D) Kimball Young
Who has named 'Cold world' to primary
groups?
(A) Maclver & Page
(B) Landis
(C) Augburn
D) Cooley

60.

61.

62.

63.

64.
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65.

66.

67.

68.

69.

UGDSOC(Sub, /Gen )/25000

How many levels of socialization described
by Johnson?

(A) Three
(B) Four
(C) Five
(D) Six

The term ‘sccial control was first used by :

(A) Merton
(B) Sumner
TC}\- Davis
(D) Ross

The cbijective of social control s -

(A) ldeal compliance

(B)  Use of discipline

(C) | Socialization

(0} Y of the above

Which two forms of social control described
by Cooley?

(A} Formal and Informal

(B) Positive and Negative

(C) . Organised and Unorganised

(D)  Conscious and Unconscious
Which of the following are the means of
informal control?

(A)  State and government

(B)  Law and Education

(@  Customs and Traditions

O} Police and Trafﬁcq-'

6.

67.

68.

69.
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72.

Which is the

ontol mr:::i \‘.:?:e”.u" fnean of social 10
Ty society?
W) Religion
(8! Law
©  Propaganda
(o Beliets
:t::ball young has classified socig control 71
(A) Conscious and Uncoﬁscious
(8) Organised and Automateq
() Formal and Informal
() Positive and Negative
Control done by family is called - 72
(A) Secondary control
8) Primary control
(C) Tertiary control
(D) Indirect control
Direct and indirect, the two types of social 73,
control is given by :
(A) K. Young
(B)  J. Rousek
(C) K. Mannheim
(D) Sutherland
‘Human Nature and the Social Order'is 74
written by :
(A) Cooley
(B) Ross
) parsons
)  Fitcher
(17)
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75.

76.

7.

78.

79.

UG(1)SOC(Sub /Gen.)/25000

Who has classified the Authoritarian and
Democratic control?

(A)  Mannheim

(B) Lapiere

{C) Bogardus

D) None of the above

What is

recommendation?

included in informal

(A) Teasing

(B) Derision

(C) Clear-expression of approval by
family members and friends

(D) All of the above

There is a sense of penalty in society -

(A) Only by rewards

(B)  Only by Punishment

(C) Rewards and punishment

D) By approval

The denervation of social values is done

by :

(A)  Rationalization

(B) " Education

(C)  Socialization

(D)  Communication

Who has given the concept of social values?

(A)  Merton

(B}  Parsons
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80.

81.

82.

83.

84.

85.

UG(1SOC(Sub/Gen-)=>

The socig| Pattern s -

80.
O ot sedio
es of behavior

©  Scientific rules

©) None of the above
Which of the following is a sogial value? 81
(A) . Law

(8) Diagnosis by doctor

(€}  Honesty

(D) Greet the elders

One of the following is not a social pattern? ~ 82.
(A)  Generality

(B) Stereotype

(€)  Prohibition

(D) Magic

The concept of stratification is related with . 83.
(A) Social inequality

(B) Behavior pattern

(C) Social justice

D) Social development -

Which thinker has given the most imortance 84
to economical factor to ‘class-conflict and
'class-consciousness'?

(A) Karl Marx

(B) August Comte

(C) Max Weber

(D) Pareto

‘Caste is a closed class’, who said this? 85.
(A) Majumdar

(B) Bailley

©) Srinivas

(D) Damley
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88.

89.

90,

Which one is the theory presented by Armold
Toynbee?
(&) The principle of challenge and
response
(8 Theory of collective mind
@ Theory of social contract
(0)  Universal principle
Veblen is :
(A)  Technology determinist
(B) Cultural determinist
(@] Economical determinist
(D)  Geographical determinist
Who propounded the theory of limitations
as an analysis of ups and downs of social
change?
(A) Max Weber
(B) Karl Marx
(C) Augburn
(D)  Sorokin
What are the reasons for change in traditional
activities in modem Indian society?
(A} Industrialization
(B) Urbanization
(€ Social legislation
8) All of the above
Which of the following is determinant of
social structure?
(4)  Age and gender
®) A great number of people
© A group of greater families

O Status and role

uG(l
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91 Whi
hI,Ch of the following is not an element d
Social structyrg?
(A) Institutions
(B) Status and role
©)  Social group
(D) Traffic system
92.

The main base of social structure s -
(A) Religion

(B)  Social relations

© Education

D) Fashion

9. The concept of social structure was first used
by :
(A)  Marx
(B)  Augburn
(C) Spencer
(D) Radcliffe Brown
94 According to Merton ‘Function’ :
(A) Helps in adaptation
(B) Reduces adaptation
(C) Always wanled
(D) Always observed
95 Structural Functionalism is known as .
(A) Economical Theory
(B) System Theory
©) Extension Theory
D) Exchange Theory
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96.

97. The concept of Infrastructure and Super  97.
structure is related with ?
(A)  Veblen
(B) Marx
(©) Dahrendorf
D) Comte
98. Who said that society has groli:m likeagrowth 98
of animais? f:
(A) Spencer
(B) Comte
(C)  Malinowsky J
D) Morgan
99, Who is the author of Wfid and Society'? 99.
(A)  C. Wright Mills v
B) Mead
€ Cooley
©) Pareto
100.  The author of 'What is Sociology' is 100.
(A)  Alex Inkeles
B)  MacIver & Page
€ comte
D) Max Weber
LG ]‘%D("'S'ub..Gcn.1'35ﬂ00 (2 )

Which is the social process? 9.
(A) Conflict

(B)  Generality

€ Law

0) Customs
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